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HERBLERICETIENERES

% w5 g - Rk Bify g i & =
B Rl 6,964, 450 + 162,413 7,126, 863
EREAGE 6, 964, 450
EERE 162,413
Z Ot R{E 6,964,450 x 53.85% ( 35% = (1 — 35% ) ) 3, 750, 356
RERE 7,126,863 + 3,750, 356 10,877,219
—REEES 10,877,219 x 53.85% ( 35% = (1 — 35%) ) — 4,601 5, 852, 781
e AT 10,877,219 + 5,852, 781 16, 730, 000
HEREELE 16,730,000 x 10.00% 1,673,000

EFREEN

16, 730,000 + 1,673, 000

18, 403, 000




EEHNRE EEEEBEICET SRR LR

% b FRFE - MART 3R Bify H B B ® % Hm =
BRI 7,126, 863
REBEREICET 2 EHIERER 7,126, 863
REBEREICET 2EHIERER 7,126, 863
BEAHE 6, 964, 450
HEE R 415, 450
1 EtE %1 1.00 415, 450 415, 450
=
BHUNE - B 259, 250
2 BHINE - BH 1.00 259, 250 259, 250
=
RIS ETE 3,201, 100
3 BEFARUVFETMER DEE 1.00 292, 600 292, 600
=
4 BEFARUVEELM 1.00 2,908, 500 2,908, 500
=
BEHMER 2,232, 000
5 B RBEHEERERMER 1.00 275, 300 275, 300
=
6 HITHERERER 1.00 1, 376, 500 1, 376, 500
=
T RTEEER 1.00 580, 200 580, 200
=
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% b3 FRFE - MART IR Bify H B B ® % HmE

e 423,100

8 EHHiiE 1.00 117, 400 117, 400
[a]

9 RERE 1.00 117, 400 117, 400
[a]

10 REHE 1.00 188, 300 188, 300
[a]

BEM 433, 550

N EBEREEER 1.00 433, 550 433, 550
=

EERE 162, 413

EHEARE 65, 413

12 EXRRE 1.00 65, 413 65, 413
=

R 55, 000

13 £¥BRER 1.00 55, 000 55, 000
=

EIREE 42,000

14 ETRERE 1.00 42,000 42,000
=
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B FF . ETEZE 1®yy
£ i R - Rtk BfL £ B ) i B =
iR
A 1.00 70, 900. 00 70, 900
FAEBEM (55T
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
A &t E%HeH - 1.00= 415, 450. 00 415, 450
&5 :2
ZFF . ERUNE - BE XLy
£ i R - Rtk BfL £ B ) i B =
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.50 45, 300. 00 113, 250
Hifttg&
A 2.00 31, 600. 00 63, 200
A &t E%HeH - 1.00= 259, 250. 00 259, 250
&5 :3
& BEFPARVEETMERDETE 1®yy
£ i R - Rtk BfL £ B Ol ) i B =
FAEBEM (55T
A 1.50 62, 200. 00 93, 300
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 2.00 35, 600. 00 71, 200
A &t E%8eH - 1,00 292, 600. 00 292, 600
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EE .4
2 BEFARUEZETM 1K%Y
£ i R - Rtk BfL £ B ) B B =
FAEBEM (55T
A 12.50 62, 200. 00 7717, 500
HEm (A)
A 15. 00 55, 200. 00 828, 000
HEm (B)
A 10. 00 45, 300. 00 453, 000
HEm (C)
A 15. 00 35, 600. 00 534, 000
Hifttg&
A 10. 00 31, 600. 00 316, 000
A § E%HeH - 1.00= 2,908, 500. 00 2,908, 500
&5 :5
L EADRHBFEREHER 1®yy
£ i R - Rtk BfL £ B ) B B =
FAEBEM (55T
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.50 35, 600. 00 53, 400
Bt
A 1.00 31, 600. 00 31, 600
A § E%8eH - 1.00= 275, 300. 00 275, 300
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% i R - Rtk £ B ) B 5 *
FAEBEM (55T
5. 00 62, 200. 00 311, 000
HEm (A)
A 7.50 55, 200. 00 414, 000
HEm (B)
A 5.00 45, 300. 00 226, 500
HEm (C)
A 7.50 35, 600. 00 267, 000
Hifttg&
A 5.00 31, 600. 00 158, 000
A &t 1, 376, 500. 00 1,376, 500
5.7
& RTREER 1®yy
% i R - Rtk £ B ) B 5 *
HEm (A)
4.00 55, 200. 00 220, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 4.00 35, 600. 00 142, 400
Hifttg&
A 4.00 31, 600. 00 126, 400
A &t 580, 200. 00 580, 200
%58
¥ - BRIE H=ED,
% i R - Rtk £ B ) B 5 *
FAEBEM (55T
1.00 62, 200. 00 62, 200
HEm (A)
1.00 55, 200. 00 55, 200
A &t 117, 400. 00 117, 400
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&5:9
& hRISRE H=ED,
£ i R - Rtk BfL £ B ) i B =
FAEBEM (55T
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
A &t %825 1. 00E= 117, 400. 00 117, 400
E#5:10
& RIS H=ED,
£ i R - Rtk BfL £ B ) i B =
iR
A 1.00 70, 900. 00 70, 900
FAEBEM (55T
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
A &t %825 1. 00E= 188, 300. 00 188, 300
BE5: 11
B EBTEREEER 1®yy
£ i R - Rtk BfL £ B ) i B =
FAEBEM (55T
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 2.50 35, 600. 00 89, 000
A &t E%8eH - 1.00= 433, 550. 00 433, 550
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&S :12
2% EHERARE 1Ly
% 5 I - BIRTE B = i £ i i
EHHARE
= 1.00 65, 413. 00 65, 413
= &t YEZBER : 1.00K 65, 413. 00 65, 413
&S 13
2 EBHER 1X&HyY
% 5 I - BIRTE B = i £ i i
(BRRRE
= 1.00 55, 000. 00 55, 000
= &t YEZBER : 1.00K 55, 000. 00 55, 000
B 14
&% BIEERE 1X&HyY
% 5 I - BIRTE B = i £ i i
MBIEREREE
= 1.00 42,000. 00 42,000
= &t YEZEER : 1.00K 42,000. 00 42,000




